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i 2 B (N) % (N) ast (N) ZHEIE (%)

—HREETS 13 5 18 27.8
AR 2 2 0.0
REL - WHHEZEG 1 18 19 94.7
HatEt 1 1 0.0
=D 1 1 0.0
1R f2ET 3 100.0
HERD. BB 2 100.0
SEBET 3 3 0.0
5t 21 28 49 57.1

2 HAHRBROZREOREICHDDILEDEIG [$5%0 4 EESEHE]
i 2 B (N) % (N) ast (N) ZHEIE (%)

—HREETS 95 74 169 43.8
TARRET 9 0 9 0.0
REL - WHEZG 1 44 45 97.8
HaEt 3 8 11 72.7
{R{ERD 0 5 100.0
EEM. ERRT 0 2 100.0
SEBET 16 1 17 5.9
&t 124 134 258 51.9

3 BECHDILHEDEGS SH 54 8 1 BIRTE]
Hi; & B (AN) % (N) a8t (N) ZHEIE (%)

— R 368 206 574 35.9
BE (A - B - BE - L - ) 87 6 93 6.5
RET - WHERHR 9 152 161 94.4
1RA2ER, BT 4 41 45 91.1
3 7 3 10 30.0
HERD. BB 10 52 62 83.9
BE, ¥=8 4 11 15 73.3
SEBHT 208 11 219 5.0
SFSHE 25 17 42 40.5
722 499 1,221 40.9
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195118 17634 24E8A
BLRIDE BARFEEUSEK [$5%0 4 EESHE]
B euss
7.4% 100.0%
B4 E ORBE LERBRRUEB REMDTZH DIRREUS R [$5%0 4 EESEHE]
AUBE HEARIR (%) BRENMDIZDHDAIE (%)
81.5% 48.1%
BB — ANz D 1 1 BAFI9k N EN 750 [$5%0 4 EESHE]
N B gey3
13.78505 16.885R 9.7B5RS
FRARIRFITEYS R [$5H0 4 EESHE]
27.0%
EIEMIAI (CH DB (CHH DT MHRE DEIES [SF15 %4 8 1 BIRTE]
B pegis &5t pegia )
117 A 42N 159 A 26.4%
10 BISHEEMECHDME (ChHDILMRHEDES SMS5E 48 1 BB
i B (A) T (N) A5t (N | ZHEE (%)
ERAR 20 26 23.1
ER R 29 35 17.1
FR 40 24 64 37.5
SREMBICR 74 60 134 44.8
1R 69 63 132 47.7
TEHR 64 46 110 41.8
FER 103 114 217 52.5
FER - 7oAt 117 173 290 59.7
516 492 1,008 48.8
SHBHIEES 1 1 0.0
SHBES 3 3 0.0
SHEEEAE 8 8 0.0
SEBEES 23 23 0.0
SEPEE ST 36 36 0.0
HBETE 79 1 80 1.3
SEPEEITE 24 2 26 7.7
sEBS T 32 4 36 11.1
206 7 213 3.3
=1 722 499 1,221 40.9




